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IHE oz K F O 75,059,554 190,593 167,361 0.25
2% & F W ol o = 18,420,000 40,350 42,090 0.22
RIS A T VAR CU R S 12,373,000 27,145 25,434 0.22
4l & W S # fE 17,417,000 13,565 14,782 0.08
11 N = I PR VAR U= 1 11,434,000 32,699 24,890 0.29
6| I T Sz = OfE 12,686,000 57,996 68,137 0.46
7\ 7oy A o () 26,323,857 95,290 82,939 0.36
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7T AT b S EHE - 1,318 7,112 0.01
M7V AT O X - 1,103 6,549 0.00
g/ 2 W o (0 F ) 23,241,000 101,336 136,152 0.44
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G FRR VAN & - - - -
SN2 PR VAR & f - - - -
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I FR VA H fE - 14,901 18,261 0.09
L L T R VAR < | = fE - 5,362 9,356 0.03
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s = ) B R = fig 6,994,230 5,982 7,416 0.09

20 I T H F & B & 2,033,391 0 0 0.00

3B E M HF X B 2 1,775,000 30 0 0.00

48 W H OB £ B & 1,852,050 0 0 0.00

SIS RS g AR fE K OE =S 1,675,232 290 489 0.02

6/ B R o A R X OE =R 1,214,000 1,878 1,627 0.15

TIFE B LAY o A R N E = 1,100,000 90 90 0.01

H 16,643,903 8,270 9,622 0.05




